

MCMC Property used off-site				
Parkland Management Equipment:				
Number of tools	Description of tool item	Date of purchase	Cost \$ per item	Total Value
Handtools				
1	Axe		\$50.00	\$50
10	Bin		\$11.00	\$110
2	Boltcutters		\$116.00	\$232
3	Bow Saws		\$26.00	\$78
4	Brooms		\$25.00	\$100
13	Bucket; metal+B42		\$15.00	\$195
4	Chainsaw chain		\$45.00	\$180
1	Chainsaw sharpener		\$59.00	\$59
2	Chippers		\$11.00	\$22
1	Chisels		\$5.00	\$5
1	Claw		\$15.00	\$15
1	Crowbar		\$41.00	\$41
4	Daisy Grubbers		\$11.00	\$44
3	Forks - D Handle		\$46.10	\$138
10	Forks - Long Handle		\$55.50	\$555
6	Garden Hoses		\$25.00	\$150
3	Hacksaws		\$16.50	\$50
5	Hamilton Planters		\$83.00	\$415
4	Hammers- brick		\$30.70	\$123
7	Hammers- claw		\$16.50	\$116
1	Hedge Clipper		\$30.60	\$31
1	Ladder		\$100.00	\$100
1	Level		\$75.00	\$75
3	Loppers	Sep-96	\$36.00	\$108
9	Mattocks		\$46.00	\$414
1	Measuring Tape - 50m		\$96.00	\$96
1	Measuring Tape - 100m		\$183.00	\$183
6	Metal Files		\$5.00	\$30
7	Multigrips		\$31.00	\$217
8	Picks		\$48.50	\$388
2	Pliers - fencing		\$57.00	\$114
1	Pliers - long nose		\$25.00	\$25
6	Pliers - normal		\$31.40	\$188
1	Post Hole Digger		\$62.30	\$62
4	Pruning Saw	Aug-97	\$11.55	\$46
4	Rakehoes		\$19.00	\$76
9	Rakes - Plastic		\$15.00	\$135
5	Rakes - Metal		\$20.00	\$100
16	Scissors		\$14.00	\$224
1	Screwdriver Set		\$39.00	\$39
1	Srewdriver; tamper proof		\$15.00	\$15
1	Sheep Shears		\$50.00	\$50
4	Shifting Spanners		\$28.00	\$112
1	Shovel - D Handle Roundmouth		\$32.40	\$32
2	Shovels - Long Handle Trench		\$29.30	\$59
2	Shovels - Long Handle Widemouth		\$33.00	\$66
1	Slasher		\$20.00	\$20
5	Sledge Hammers		\$53.90	\$270

1	Star Picket Driver		\$61.00	\$61
4	Three prong cultivator		\$19.00	\$76
11	tie down ratchet		\$11.00	\$121
8	tie down ratchet; 680kg		\$15.00	\$120
1	Tomahawk		\$18.40	\$18
11	Toolboxes		\$28.00	\$308
1	Trolley		\$50.00	\$50
6	Wash water containers		\$15.00	\$90
2	Wheelbarrows	Jun-97	\$127.00	\$254
2	Wood Saw		\$28.00	\$56
Motorized Equipment				
3	Brushcutters	May 95 (# 8)	\$1,100.00	\$3,300
1	Chainsaws (024)	March 95 (025)	\$745.00	\$745
1	Chainsaws (023)	Sep-02	\$600.00	\$600
1	Deutcher Mower		\$2,000.00	\$2,000
1	Auger Stihl BT120L		\$1,200.00	\$1,200
1	Auger bit; 120mm		\$350.00	\$350
1	Auger; tungstem tipped blades		\$70.00	\$70
Fire Related Equipment				
6	Beaters		\$10.00	\$60
2	Driptorch	Jun-05	\$228.00	\$456
4	Fire hydrant Hose		\$236.00	\$944
3	Fire hydrant Key		\$51.00	\$153
5	Fire-Fighting Backbacks	May 95 (2)	\$182.00	\$910
2	30m length of 38mm hose		\$258.00	\$516
1	Water thief system		\$275.00	\$275
1	Branch		\$50.00	\$50
1	Ball/gate Valve		\$71.00	\$71
1	Hose strangler		\$149.00	\$149
1	Pressure reducer		\$141.00	\$141
1	19mm hose		\$96.00	\$96
1	Weather kit		\$420.00	\$420
Fuel Tins				
1	Large 2 Stroke Fuel Tin		\$127.00	\$127
1	Large U.L.P. Fuel Tin		\$127.00	\$127
1	Small 2 Stroke Fuel tin		\$109.00	\$109
1	Small Diesel Fuel Tin		\$109.00	\$109
1	Small U.L.P. Fuel Tin		\$109.00	\$109
2	Petrol container		\$23.00	\$46
Safety gear				
5	Brushcutter Harnesses		\$80.00	\$400
1	can catcher		\$50.00	\$50
3	Chaps		\$170.00	\$510
7	Ear Muffs		\$30.00	\$210
20	Gloves; cow hide riggers		\$6.00	\$120
20	Gloves; Solvex		\$6.00	\$120
50	Gloves; marigold		\$3.00	\$150
50	Gloves; rubber		\$1.00	\$50
40	Gloves; cotton		\$1.00	\$40
10	Goggles; uvex		\$16.00	\$160
19	Gum Boots		\$32.00	\$608
1	Hard Hat		\$12.00	\$12
4	Hard Hats with Face Shields		\$30.00	\$120

10	Rain set		\$33.00	\$330
9	Safety specs		\$10.00	\$90
1	safety tape; red &white		\$10.00	\$10
4	Safety vest		\$30.00	\$120
21	Shirts		\$38.00	\$798
4	Sunsceen cream		\$13.00	\$52
5	Sunglasses		\$33.00	\$165
11	Witches Hats		\$11.00	\$121
Drills				
1	Bosch Cordless Drill - Model GSR 9.6VE	Jun-05	\$312.00	\$312
3	Makita Cordless Drills - Model 6012 HDW	Jul 95, Jan 96	\$195.00	\$585
Gas Gun				
2	Chalutorch Gas Guns	Feb-96	\$210.00	\$420
Climbing Gear				
2	CMI Ascenders	1995	\$79.00	\$158
2	Figure 8's (for climbing)	1995	\$30.00	\$60
4	Jumar Ascenders	1995	\$100.00	\$400
2	Petzl Adjustable Harnesses	1995	\$180.00	\$360
6	Screwgate Carabiners	1995	\$26.00	\$156
4	Static Rope 50m 11mm	1995	\$50.00	\$200
2	stubai screwgate carabiners		\$17.00	\$34
60	tubular webbing		\$1.50	\$90
Spray equipment				
12	Birchmier Spray Backpacks; 15L		\$248.00	\$2,976
3	Birchmier Spray Backpacks; 10L		\$237.00	\$711
2	Full Face Mask Cartridges		\$40.00	\$80
10	Maresa Breathalon Suits	Aug-97	\$110.00	\$1,100
2	Prosorb		\$17.00	\$34
11	Respirator		\$82.00	\$902
10	Secateurs		\$20.00	\$200
2	Signs		\$117.00	\$234
1	Spray Pressure Gauge		\$50.00	\$50
5	Sundstrom gas filters		\$32.00	\$160
5	Velpar Spotguns		\$143.00	\$715
2	Silvan water tank 100L		\$239.00	\$478
1	Silvan water tank 200L		\$289.00	\$289
Herbicides				
1	Agral 600		\$40.00	\$40
1	Atrazine		\$172.00	\$172
1	Eesteem		\$91.00	\$91
1	Garlon		\$350.00	\$350
1	Grazon		\$127.00	\$127
1	Kiwi highlite Blue		\$193.00	\$193
1	Kiwi highlite red		\$204.00	\$204
1	MCPA		\$127.00	\$127
1	Pulse		\$200.00	\$200
3	Roundup biactive		\$136.00	\$408
2	Simmazine		\$172.00	\$344
1	Starane		\$141.00	\$141

Planting materials				
5	steel pin; pin 10		\$44.00	\$220
1	steel pin; pin 15		\$61.00	\$61
1	steel pin; pin 20		\$29.00	\$29
4	steel pin; pin 15HD		\$33.00	\$132
1	steel pin; pin 20M		\$40.00	\$40
3	treeguards; standard		\$132.00	\$396
100	Green guard sleeves		\$1.00	\$100
3	Bamboo stakes		\$37.00	\$111
20	jute mat; recover		\$51.00	\$1,020
130	Hardwood stakes		\$14.00	\$1,820
5	Jute roll; 25x1.8		\$105.00	\$525
Fencing				
10	Star posts; 1.5m		\$49.00	\$490
20	Star posts; 0.6m		\$14.00	\$280
1	Barrier mesh		\$90.00	\$90
1	Fence wire; horse sighter		\$151.00	\$151
1	Fence wire;		\$142.00	\$142
Other Equipment				
1	Microscope - Olympus SZ3060	Sep-97	\$1,760.00	\$1,760
1	Camera - Nikon FM 2	Sep-97	\$1,850.00	\$1,850
4	First Aid Kits; vehicles		\$83.00	\$332
1	GPS unit		\$700.00	\$700
4	Snake Bandages & Bags (x2)		\$12.00	\$48
4	Two way radio		\$90.00	\$360
4	Thermos Flasks		\$60.00	\$240
BBQ equipment				
1	Jackaroo hotplate		\$299.00	\$299
1	Rangemaster hotplate		\$314.00	\$314
2	gas bottle		\$60.00	\$120
Mobile Phones				
4	Nokia 5110	Feb-00	\$250.00	\$1,000
TOTAL				\$50,207